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#include <stdio.h> hw3ql.c
int main() D]other
{ char ch1=0, ch2=0, ch3=0, newCh=0; #include <stdio.h>
int counter=0, index=1;
while( (newCh=getchar()) != '@") [, othtrmain()
{ 0
chi=ch2; char n1=0, n2=0, n3=0, n4=0;
ch2=ch3; int count=0, h=0;
ch3=newCh;
index++; while ((n4=getchar())!='@")
if(chi=="h" && ch2=="w"' && ch3=="C") : he+;
ni=n2;
counter++; n2=n3;
printf("%d\n", index-3); n3=nd;
if(nl=="h" && n2=="w' & n3=="C")
} printf("%d\n",h-2);
printf("%d\n", counter); count++;
return 0; } }
printf("%d\n",count);
return 0;
hw3q2.c
#include (stdio.h> Y hw3q2.c e
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